What Did Airhead Klutz Look For When
He First Took Up Waterskiing?

Find each answer in the set of boxes under the exercise. Write the letter of the exercise in
the space above the answer.

I. Complete each statement.

(D) 7tt=___in. (C) 4ft10in.=____in. (A) 10ft3in.=____in.
®8yd=___ﬁ (E) 5yd2ft=___ ft (1) 4yd=____in.
(W) 60in.=____ft (A) 40in. = ft in.  (E) 72in.=____yd
H) 25 ft=____in. L 75yd=__ (N) 100ft=___yd__ft

A baseball diamond is a square with 90 feet between bases. About
how many yards does a player run after hitting a home run? yd

3:4

Il. Add or subtract. Simplify if possible.

3ft7in. 5ft 9in. 13ft2in. (N) 3yd2it
@+2ft8in. ®+8ft10in. ®+ 6 ft 8in. + 4yd2ft

9ft11in. 7ft4in. 10 ft 8in. 14 yd 1 ft
®—4ft 6 in. ®—2ft7in. CD— 3 ft11in. ®— 8yd?2ft

12t 6 in. (B) 20 ft 9yd 2 ft 36 yd
+ 7f6in. .— 5 ft 8 in. ®+6yd1ft ®— 28 yd 1 ft
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What Movie Is about a Kid Who Ran
Away from Home with His Bicycle?

Find each answer in the answer columns and notice the two letters next to it. Write
these letters in the spaces over the exercise number at the bottom of the page.

I. Find the volume of each rectangular prism.

9in. 3.5m 2.7 cm
: i 5.2cm

1218 8in. \/ 3.8 cm

Il. Solve. 2m 1.4m

@ A classroom is 26 ft wide, 32 ft long, @ A swimming pool is 20.6 m long, 8.5 m
and 9 ft high. What is the volume of the wide, and has an average water depth
room in cubic feet? of 1.7 m. Find the volume of water

@ If all the gold that has been produced in eaced ol the poal,
the last 500 years could be melted to @ A refrigerator is 3 ft wide, 2.5 ft deep,
form a single cube, each side would and 6 ft high. The walls and other parts
measure about 16 m. How many cubic of the refrigerator take up 20 ft3. How
meters of gold is this? many cubic feet are left for food?

Krispy Kritters Cereal used to come in a @ An aquarium weighs 22.5 Ib when
box with a volume of 2,850 cm3. empty. The aquarium is 30 in. long,
However, The Krispy Kritters Co. 14 in. wide, and is filled with water to
designed a new larger box 22.5 cm a depth of 18 in. Water weighs 0.036
wide, 6.2 cm deep, and 30 cm high. pound per cubic inch. How much
How many more cubic centimeters will does the aquarium weigh when it is
the new box hold than the old box? full of water?

..................................................... ANSWERS swunsivsissiuissmmmnmmnnmmasvonssnmmasunsnns

RU g8s5cmd3 (ST 61181 (W) 4,006m3  (LA) 314561b  (TH) 864 in.3
(NN) 297.67m3  (CH) 53.352cm3 (IN) 23513 (GO) 1,3350m3  (LE) 311.27 m?3
(WD) 204.661b  (ES) 25 ft3 (NE)9.smé  (PA)3986m3  (TH) 7,488 ft3
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